4 AEAFARE S [v=7]

BERt :  4F 44 45248 (B) ANFAY =257
EHFHE: HDCPA YT v7 A ZMAEL 20 (B 420 - &% 0N)
HOCPEFR : 50 gt &=L
SR fOE (1/1
EMERTRE : v v T 7 H—F Gy ME) ENR : 4F0 44 48248 (H)
HEAZ. SME4A s ] GROSS HDCP NET &
B IO BE 43 37 80 13.0 67.0
FEERE] Tk Ak 41 44 85 18.0 67.0
O3 D) BB Bk 42 42 84 16.0 68. 0
4 (D e R 44 39 83 14.0 69. 0
5 hod M =k 43 42 85 15.0 70.0
RAPN T 40 40 80 10.0 70. 0
(7 _frd hF B 41 43 84 14.0 70. 0
8 fDiHIL B 39 44 83 13.0 70.0
KRR L 44 40 84 13.0 71.0
A0 L p AR ZIA 40 44 84 12.0 72.0
AL BLd H)1 EME 44 42 86 13.0 73.0
A2 {ip| s B =P 42 42 84 11.0 73.0
13 fif |[{EfE &+ 41 41 82 9.0 73.0
14 {if | FH Pk 43 43 86 13.0 73.0
15 iz | /i) FEst 39 45 84 11,0 73.0
16 {7 | B4 RKER 46 43 89 14.0 75.0
17 {7 | e A& 44 48 92 17.0 75.0
18 {7 | HEH #Z 41 49 90 15.0 75.0
19 {if | ik = 46 49 95 19.0 76.0
20 fir | ¥EFEiE 14 43 54 97 9.0 76. 0
21 fif | R FERE 52 48 100 23.0 77.0
22 fif |IRA IFE 52 48 100 23.0 77.0
23 fir | PH FE 48 50 98 20. 0 78.0
24 L | g HaL 50 43 93 14.0 79.0
25 fir | HEA SERI 51 45 96 17.0 79.0
26 it | =i i 48 45 93 14. 0 79.0
27 iL | @il B 50 48 98 19.0 79.0
28 {ir | @Il == 46 52 98 19.0 79.0
29 {if | Frh A 48 47 95 15.0 80.0
30 fif @ ——= 45 45 90 10.0 80.0
31 fif | T3 & 50 50 100 20.0 80. 0
32 {if | A0 FRH 53 51 104 23.0 81.0
33 {if | *hAf FnkE 49 55 104 23.0 81.0
34 L K BE 43 50 93 12.0 81.0
35 {ir | 4G Ak 47 48 95 12.0 83.0
36 i | #5AR F% 56 51 107 23.0 84.0
37 i | dLEFE SME 47 46 93 9.0 84. 0
38 fir |/ E 47 53 100 16.0 84.0
39 fif | KA &= 43 54 97 12.0 85.0
40 fif | KAGR X 54 58 112 23.0 89.0
A Ay 41 53 94 0.0 94.0
PH s 53 49 102 0.0 102.0
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B E{T . SF0 44F 4H 248 (B) NPl k=237
HEFE: HDCPA YT yv7 AE  BMAE: 20N (Bt : 20N - %tk :0A)
HDCP_EFE : 50 Aoy g : ML
a—2: W 1/
RN : ~ v F o 7 B — K (R v MIE) ENRI : 4F0 448 45248 (B)
JE A ZINE 4 i [i] GROSS | HDCP NET 1 %5
R 39 | 45 84| 21.0| 63.0
T 1L B 39 | 39 78| 14.0 | 64.0
3 hr | HEE =5 44 | 42 86 | 20.0| 66.0
4 (DI ZRE {EER 42 | 42 84 | 17.0| 67.0
5 fL |k 1= 42 | 46 88 | 21.0 | 67.0
6 i) KBS HTAR 39 | 41 80 | 11.0 | 69.0
7 | T = 19 | 50 99 | 30.0| 69.0
B EE S 45 | 46 91| 21.0| 70.0
(9 Dl K& b 41 | 42 83| 12.0| 71.0
(o fiD) %7k 8 46 | 45 91| 19.0| 72.0
11 i A+ BE 44 | 44 88 | 16.0 | 72.0
12 i | &H F5 44 | 47 91 | 19.0| 72.0
13 {7 T5H Bk 44 43 87 | 14.0| 73.0
14 {7 |[fEH EIS 40 45 85| 12.0| 73.0
15 {7 |65 F&H 45 39 84 | 10.0| 74.0
16 fif | 2R fE— 50 48 98 | 24.0| 74.0
17 7 | AT i 50 52 102 | 28.0 | 74.0
18 fir |[#H1 &l— 47 | 49 96 | 22.0 | 74.0
19 fif | =5 AR 1B 52 53 105 30.0, 75.0
20 i | KB ZEia 43 48 91| 16.0 75.0
21 AL | Il = A 48 47 95| 19.0 | 76.0
22 fir | FFIL FEA 41 45 86| 10.0 | 76.0
23 L | M FEER 50 52 102 | 25.0| 77.0
24 fir |FMEE RAT 50 44 94 | 16.0| 78.0
25 fiL [/Ni%E IEE 51 48 99 | 21.0 | 78.0
26 if |[fEx K Bk 44 | 47 91| 13.0| 78.0
27 i {HAO IE 46 51 97 | 19.0| 78.0
28 {iL | HEMN Tl 44 | 54 98 | 20.0 | 78.0
29 {7 | EH — 60 | 59 119 | 23.0| 96.0
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BME R R &fn 448 4H248 (B) NELH ) —25F
BifiHitk: HDCPA VT v AE ZMAEL : 13N (BHE:0A - 4tt: 13A0)
HDCP R : 36 HHEhiT# . &L
I—R: L Ii7) 1/1
BERLRE : = v F 7 H— K% v ME) ENRI . 55Fn 44 4H 248 (3)
JIE {37 ZNE 4 1 i GROSS | HDCP NET =
B OBER BT 42 | 45 87 | 23.0 | 64.0
TR LT (-2 47 | 49 96 | 27.0 | 69.0
(3 fi)| KR Em% 47 | 43 90 | 19.0| 71.0
T4 fiD| i ER 41 | 42 83| 12.0| 71.0
@i‘;}mqﬂ it 48 | 46 94 | 21.0| 73.0
6 fif | K7 % 42 43 85 ] 12.0 | 73.0
7 L |#EfE T 38 42 80| 7.0 73.0
8 i |FHL wah> 46 46 92 | 18.0 | 74.0
9 fif |TEAK ET 48 45 93 | 18.0| 75.0
10 i | B b AF 49 51 100 | 25.0 | 75.0
11 fiz (A6)I FnEF 56 52 108 | 32.0 | 76.0
12 2 | KB &+ 44 39 83| 6.0 77.0
13 fif | T B+ 45 50 95| 14.0 | 81.0




